v
—. =

(| 2 57, 3£20493)

1. y=In(l—x*)+arcsin 3x [f15E ik A .

[\

+ BRI T (X) 1E Xo AEARBRAFAE ) 78 70 s BEAR A 2 .

(8]
/

lim(1—2y21—
X

X—>0

4. d(arcsine”™)=_

[V}

V(%) RIE U BRI y = f(X) 1 Xo &b .

o)

. wy =y(x) iR log, y —sin(xy) =1+ 2y e, *g_i:

2 4
J~2 X“ + xIn(x +1)dx=
2 244/a-x

dy _ d’y _
dx " odx? ’

. 1
8. & y=arctan—, N
X

9. CETFEY" -2y +5y =0, @M y=
=\ FirE
(/N2 45, #2045

L lim @+ 3y =1,

n—oo n

2. 7B AR TSR AL

timNAEX) iy N1
x>0 §in X x>0 (sin x)’

W

n

BRI E(X) 7 (a, ) AR R AR 0 3 K HARME

j: J1+cos2xdx = IO” 2 cos? xdx

5
:\/ijo cos xdx =+/2sin x[7=0

v RO EREIE
v ERR B DX TR AT I
v WO TR PSR, RIE AT

9 &Y, Yo &Y +p(X)Yy=00m"1 i, C,, C, mEEWE, WCy,+C,y, MEL
A o

0 3 O



X ’ 3
10, ['[0 costdt]' =cosx” —1.
=\ EFEm
(TR 447, $£20453)

2

e’ -1 _
x>0 COSX—1 —

1\

A0 B2 C-2 D. 3

x+sm—x,x<0,
X
2. f(x)=40,x=0, M x =052 f(x)m
xcosl,x>0,
X
AL BB B. 1] % [a] W £

C. BRERIAIIT S D. 4535 W17 £
3. e f () s [ xf (x)dx =

A. e *(l-x)+c B. e *(l+x)+cC
C.e"(x-1+c D. e *(1+Xx)+cC

4. WYy = F(X)TER X=X 40, HUSHCRME, W)

A. f'(x)=0 B. f"(x,)<0

C. f'(x,)=0H f"(x)<0 D. f'(x,)=0ZAMFE

5. FHIARIERIE
A,y Ay, 2 AX)Y"+B(X)Yy +C(X)y = 0w, W Cy, +C,y, iz 7 RIS

B. (V) +y=sinx &Mt
C. (Y)+y=e"RB_-MHnii

D. y'+Vy =sinx & At mny i
M. tEH

(&R0 57, 2£4053)

1. RGH: y=2".

arctan \&dx

2‘$%K%ﬁ%:f7f—if—o
+ X))\ X



3. Im ! dx .

12+ 4x

4. RIS TTREROEME: (X° —1)y' +2xy—cosx=0.



